Part Number

WATERCO HRV Series

Description

Diagram

Q
<

[/V0419( 1/4" AIR RELEASE SCREEN ASSY. 1
V12612 O RING FOR HRV FILTER LIDS 2 1
5220204 LID FOR HRV V BAND STYLE 3 1
5220202 HRV LID CLAMP HALF 4 2
00B0015 BOLT 5/16-18 X 2-1/4" HEX SS 5 2
30B300( GAUGE 0 TO 50 PSI 6 1
1781020 KIT BAG AIR RELIEF 7 1
530218 WASHER 5/16" FLAT SS 8 4
|00B0007 5/16-18 HEX NUT SS 9 2
158004 DIFFUSER HYDRODOME 10 1
|HRV?24-DIS HRV24 DISTRIBUTOR ASSY. 11 2
| VO4006BLH 2" (50MM) BULKHEAD ASSY. 12 2
|V0208( 2" (50MM) BULKHEAD GASKET 12A 2
534024BLK 2" (50MM) UNION ADAPTER 13 2
| V0228 2" (50MM) HALF UNION O-RING 13A 2
| HRV24-COl HRV24 COLLECTOR ASSY. 14 2
|V02112PF LATERAL 4-1/2" (110MM) 15 4
V0211 7Pk LATERAL END CAP FEMALE 16 1
520922 LATERAL EXT. ARM ASSY. LONG 17 4
|/V02111PF LATERAL 3-1/2" (75MM) 18 1
|/VO2026BLK DRAIN ASSY. 19 1
| V0282° GASKET FOR W02522BLK CAP 19A 1
|V02522BLK DRAIN CAP 19B 1



https://www.poolblu.com/air-release-screen-w/-1/4-gulstream-plug
https://www.poolblu.com/use-w12612-o-ring-v-band-lid/baker-tm-valve
https://www.poolblu.com/lid-for-hrv-v-band-style-malaysi-a
https://www.poolblu.com/clamp-half-molded-for-wc-hrv-lid-mc
https://www.poolblu.com/gauge-0-60-psi
https://www.poolblu.com/washer-5/16-s/s316-do-to-use-use-wc632018
https://www.poolblu.com/diffuser-hydrodome
https://www.poolblu.com/bulkhead-assem-bly-for-sm-seri-es-filters-2-50mm
https://www.poolblu.com/bulkhead-gasket-50mm-2-for-waterco-sm-tank
https://www.poolblu.com/union-adapter-2-for-pump-filters-imperial
https://www.poolblu.com/o-ring-for-2-half-union-634024blk-replaces-6340241
https://www.poolblu.com/collector-assy-hrv-24-w/-hub-laterals
https://www.poolblu.com/lateral-4-1/2-110mm-standard-slot-012-polypro
https://www.poolblu.com/end-cap-for-waterco-lateral-female
https://www.poolblu.com/lateral-extensi-on-arm-assy-long-fi-shtai-l
https://www.poolblu.com/lateral-3-1/2-75mm-standard-slot-012-polypro
https://www.poolblu.com/drain-assem-bly-for-all-36-and-below-tanks
https://www.poolblu.com/drain-cap-gasket-for-pn-wcw02522blk-sm-all-filter-drain-cap
https://www.poolblu.com/drain-cap-for-filters-36-and-sm-aller-black



